JBL Incorporated, 8500 Balboa Boulevard, P.O. Box 2200, Northridge, California 91329 U.S.A.

Technical Manual

JBL AM5215/95 Jb.

SPECIFICATIONS

ACOUSTIC & ELECTRICAL SPECIFICATIONS: SYSTEM COMPONENTS: (cont'd)
« Nominal Impedance: 8 Ohms » Low Frequency Driver: JBL 265H-1, 380_mm (15 in_) drivgr
« Transducer Power ' with 50.8 mm (2 in) dual voice coil
. * DC Resistance: 5.25 ohm +/- 10%
Rating (AES): gga%o(ﬁég%?,op‘é‘gk’;ei‘% 2 hrs « High Frequency JBL 2408H-1, 38 mm (L.5 in) exit
HF: 40 W (160 W peak), 2 hrs Driver: (\:/g?ggrscs)islion driver,38 mm (1.5 in)
* Long-Term Power . « DC Resistance: 4.80 ohm +/- 0.2 ohm
Rating (IEC): Eggsﬁ\lfg mode: 350 W (1400 W peak), ¢ Crossover Network: 443677-001
* Frequency Response: 41 Hz - 18 kHz (+3 dB) .
« Frequency Range: 35 Hz - 20 kHz (-10 dB) AURAL SWEEP TEST SPECIFICATIONS:
¢ Maximum SPL: A. System Aural Sweep Test:  7.0Vrms Input, 10 Hz to 10 kHz
Bi-amp mode: LF: 125 dB-SPL cont avg (131 dB peak) Sweep Duration: 5 seconds
HF: 129 dB-SPL cont avg (135 dB peak) B. L.F. Aural SWeep Test: 15.5V Input, 30 Hz to 1 kHz
Passive mode: 124 dB-SPL cont avg (130 dB peak) C. H.F. Aural Sweep Test: 0.75V Input, 200 Hz to 1.5 kHz
« System Sensitivity: Passive mode: 98 dB SPL

PHYSICAL SPECIFICATIONS:

1 watt @ 1 meter ¢ Enclosure Dimensions: 783 x 422 x 504 mm D

« Crossover Frequency: 1.8 kHz (30.8 x 16.6 x 19.85 in.D.)

SYSTEM COMPONENTS: * Net Weight: 55 Ib (25.0 kg.)

« Cabinet: Enclosure (Not For Sale) WARRANTY INFORMATION:

* Crille: 338163-002 * Refer to Warranty Statement packed with each product.
Driver, Low Freq. Driver, High Freq
265H-1 2408H-1
(363837-003X) (365011-001X)
Cone Repl Diaph Repl
C8R265 D8R2408

- +

Warranty YEL/BLK
59660 YEL
Installation Sheet
339390-062 GRN/BLK
Sticker, Logo GRN
339398-001
Ba Network Assembly
21784 Carton 443677-001

351684-001

Filler (2)

351408-001

PKG,Microfoam (6)
49790P
20" x 18" Sheets

/ SEE NETWORK SCHEMATIC PAGE

10-09

JBL AM5215/95 reva



G6/STCSINY 14l

JBL AM5215/95

SCHEMATIC (443677-001)

PCB ASSEMBLY

L1 1.75mH L3 0.200mH )
A v AT ——s 8 pin molex connector
' Vi ' GRN/BLK
' L2 1|1 —/—— <« -o0187
VIEW FROM CONNECTOR PIN SIDE 5.00mH GRN
ST I i 2 I 7 +0250
. (o3 — GRN
20.0uF
' 16.0uF _ L _ 140uF 3
i\ | 250V e ———— Gc2 250V C3 250V RED | 4
’ o ' = q BLK |
CIRCUIT _NUMBERS
DETAIL/’ 5
S—- R1 R2 YEL
40.0 Ohms 40.0 Ohms al 6 | ek
| J ) 7 -0.250
| | YEL
= 8 - +0187
10.0uF
| || ‘ ‘ C6 250V
| | | . |
| || i | s |
C4 cs
1.62uF 10 OUE L6 0.200mH
250V 2% 250V "
Ly
| ‘ L5 0.030mH |
14.0uF
250V
= R3
= 330hms |

I\

Individual Parts for the above crossover are not available.
A complete replacement assembly should be ordered.




G6/STCSINY 14rC

JBL AM5215/95

COMPONENT EXPLODED VIEW

Throat Adapter ]
443323-001 Driver, High Freq. Mounting Support (6)
2408H-1 381-00023-01

Bolt (4) (365011-001X) 90 DEGREES
Waveguide 854-03010-16 Diaph Repl
443495-001 1/4-20 x 1 D8R2408 Bolt (15)

CAPBLK ZINC, 352051-001
Screw (8) LCS M10 x 25MM, HEX,BLK
804-41110-12
10-32 x 3/4 Nut (4) Screw (12)
PAN,PH,BLK 834-30010-00 883-41110-08
ZINC,LCS 1/4-20 8x1/2

KEPS,BLK o) PAN,PHPB,BLK ZINCLCS

Mounting Bracket (3)
338652-001
FLAT SINGLE, M10

Screw (6)

883-41110-08

8 x1/2

PAN,PH,PB,BLK ZINC,LCS

Screw (6)
882-41110-10
Compression Spring gKnggH bB
350690-001 ,PH,PB,
BLK ZINC,LCS
Washer
76168 Input Plate
#) 339336-001
Push Nut
350689-001 Input Label (HADM)
7/16” 440926-007
Logo, Grille _ L Label
339402-001 : Driver, Low Freq. 339339-067
265H-1
. (363837-003X) Network
Grill T CoRaes” 4367001 TNu(ae)  aNs2ibe
338163-002 s . Screw (7) %?3621)( g (ot available for sale)
crew (8) 882-41110-10  Sron Barrel
Screw (6) 804-01110-16 6 x 5/8 ep barre
882-51110-12 10-32x 1 PAN PH.PB
6 x 3/4 FIL, PH,BLK ZINC BLK’ZIN‘C LCS
OV,PH,PTCL, LCS ’

BLK ZINC,LCS
Gasket, Rear
360-70002-01
15”

Dome
71646-04




